
CHEMISTRY

BOOKS - OSWAAL PUBLICATION CHEMISTRY (KANNADA

ENGLISH)

Solved Paper 1

Exercise

1. State Raoult's law of a binary solution for two volatile liquid

components.

Watch Video Solution

2. Van't Hoff factor for a solution is more than one. what is the conculsion

drawn form it ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JX7uRSM4s3B0
https://dl.doubtnut.com/l/_MuVDAoMwLidS


Watch Video Solution

3. Write the anodic reaction taking place at  fuel cell.

Watch Video Solution

H2 − O2

4. Rate of reaction,  increases two times by increasing the

concentration 'A' by four times, what is the order of a reaction?

Watch Video Solution

A → rB

5. What happens to the entropy of a gas after adsorption?

Watch Video Solution

6. Name the method of refining of silicon.

Watch Video Solution

https://dl.doubtnut.com/l/_MuVDAoMwLidS
https://dl.doubtnut.com/l/_LYjNIV2G9WRT
https://dl.doubtnut.com/l/_ofgBV2amt2uu
https://dl.doubtnut.com/l/_ANcQibw8X9s8
https://dl.doubtnut.com/l/_TLEVYinf1jY5


7. Complete the reaction, .

Watch Video Solution

2XeF4 + 3H2O → − + 6HF

8. Name the major product obtained when tertiary butyl bromide is

heated with alcoholic KOH solution.

Watch Video Solution

9. Give the IUPAC name of .

Watch Video Solution

CH2 = CH − CHO

10. Give an example for fat soluble vitamin.

Watch Video Solution

https://dl.doubtnut.com/l/_KKOvxaOK3sl2
https://dl.doubtnut.com/l/_UfTEqa3ouEac
https://dl.doubtnut.com/l/_aVPfHqafjJdF
https://dl.doubtnut.com/l/_MvffzOnabZ9g
https://dl.doubtnut.com/l/_wBam9TS9HKqe


11. How is ferrimagnetism arises in substances? Give an example of

substance showing ferrrimagnetism.

Watch Video Solution

12.  for  are 126.4,425.9 and 

 respectively. Calculate .

Watch Video Solution

λ ∘
m NaCl, HCl and CH3COONa

91.0 S cm2 /mol λ ∘
m  for CH3COOH

13. In a reaction 2A product, the concentration of A decreases from 0.5

mol L-1 to 0.4 mol L-1 in 10 minutes. Calculate the rate during this interval.

Watch Video Solution

14. Study of actinide elements is difficult. Give two reasons.

Watch Video Solution

https://dl.doubtnut.com/l/_wBam9TS9HKqe
https://dl.doubtnut.com/l/_qPbhfKG8ZBEh
https://dl.doubtnut.com/l/_3haixeQslS8q
https://dl.doubtnut.com/l/_VLCa537Zow0q


15. Explain Kolbe's reaction

Watch Video Solution

16. Among methonic acid and ethanoic acid which is more acidic and why?

Watch Video Solution

17. Name: Artificial sweetening agent used only in cold food.

Watch Video Solution

18. Name: Anionic detergent.

Watch Video Solution

19. Give an example each for antifertility drug and antiseptics .

https://dl.doubtnut.com/l/_Epxr9awjvBKg
https://dl.doubtnut.com/l/_j7dsYwxbQybR
https://dl.doubtnut.com/l/_yZWUw32OO4Ng
https://dl.doubtnut.com/l/_q7vzNInNGlm4
https://dl.doubtnut.com/l/_2dlKx2aeD5zC


Watch Video Solution

20. (a) Write the chemical reactions involved in the exraction of gold

using sodium cyanide.

Watch Video Solution

21. Write the composition of copper matte.

Watch Video Solution

22. Write the balanced chemical equation with condition involved in the

manufacture of nitric acid by Ostwal's process .

Watch Video Solution

23. Complete the equation: SO2 + Cl2 → ………

https://dl.doubtnut.com/l/_2dlKx2aeD5zC
https://dl.doubtnut.com/l/_s5AvfiNSkr2h
https://dl.doubtnut.com/l/_jtc5VxaRk5nZ
https://dl.doubtnut.com/l/_Zn81rp49Avf4
https://dl.doubtnut.com/l/_gj7aQhqvhSNm


Watch Video Solution

24. Complete the equation: .

Watch Video Solution

2NaCl + H2SO4 → ……. . + Na2SO4

25. Complete the equation: .

Watch Video Solution

Pbs + 4O3 → ……. . + 4O2

26. Given reason: ICI is more reactive than .

Watch Video Solution

I2

27. Fluorine exhibits-1 oxidation state. Give reasons.

Watch Video Solution

https://dl.doubtnut.com/l/_gj7aQhqvhSNm
https://dl.doubtnut.com/l/_J0m5uEhJwdav
https://dl.doubtnut.com/l/_RM4zN2188WO0
https://dl.doubtnut.com/l/_nCsuyN0X7bLS
https://dl.doubtnut.com/l/_FUQeE5MNCxpS
https://dl.doubtnut.com/l/_00tS6iXcCRQT


28. HF is liquid where as HCl, HBr …… Other hydrogen halide is liquid.

Watch Video Solution

29. Give any two reasons for the formation of large number of complex

compounds by transition metals.

Watch Video Solution

30. Write the formula to calculate spin only magnetic moment.

Watch Video Solution

31. Write the balanced equations in the manufacture of potassium

dichromate from chromite ore.

Watch Video Solution

https://dl.doubtnut.com/l/_00tS6iXcCRQT
https://dl.doubtnut.com/l/_tSHdiV36RCt5
https://dl.doubtnut.com/l/_wC2f7owFdERg
https://dl.doubtnut.com/l/_86pM97TB8Isb
https://dl.doubtnut.com/l/_krcxFIuyKWqt


32. Using valence bond theory explain geometry, hybridisation and

magnetic property of  (Atomic number of Co = 27).

Watch Video Solution

[CoF6] −
3

33. Give any two postulates of Werner's theory.

Watch Video Solution

34. Write the structure of trans isomer of 

Watch Video Solution

[Co(NH3)4CI2]
− .

35. Calculate the packing efficiency in Face Centred Cubic (FCC) structure.

Watch Video Solution

https://dl.doubtnut.com/l/_krcxFIuyKWqt
https://dl.doubtnut.com/l/_GlbeVN1b1SwL
https://dl.doubtnut.com/l/_ylxgwaXXuqcw
https://dl.doubtnut.com/l/_TujF4oszYkSO


36. Give any two differences between Frenkel and Schottky defects .

Watch Video Solution

37. The vapour pressure of pure benzene at a certain tempreature is 0.850

bar. A non-volatile. non-electrolyte solid weighing 0.5g, when added to

39.0g of benzene (molar mass of benzene 78g ) vapour pressure of

the solution then is 0.845 bar. What is the molar mass of the solid

substance?

Watch Video Solution

mol− 1

38. What is Reverse Osmosis? Mention its one partical utility.

Watch Video Solution

https://dl.doubtnut.com/l/_7pWZsLpIrGxy
https://dl.doubtnut.com/l/_tzONT8HK6ZLj
https://dl.doubtnut.com/l/_0aZOjL9P6yEC


39. Calculate the equilibrium constant for the reaction 

.

Watch Video Solution

Cu(s) + 2Ag + (aq) → Cu+ 2(aq) + 2Ag(s), E ∘
cell

= 0.46V

40. Write half cell reaction and E^o Value of (SHE) standard hydrogen

electrode.

Watch Video Solution

41. Derive an intergrated rate for the first order reaction.

Watch Video Solution

42. Write any two factors responsible for effective collisions.

Watch Video Solution

https://dl.doubtnut.com/l/_r92nQ0uwAP0A
https://dl.doubtnut.com/l/_rNsRDa59SQl9
https://dl.doubtnut.com/l/_EKROz2jABoct
https://dl.doubtnut.com/l/_XMuWkb2Gx54P
https://dl.doubtnut.com/l/_o0YrjqrVL0rp


43. What is shape selective catalysis? Give an example of such type of

catalyst.

Watch Video Solution

44. What are emulsions? Give an example of oil dispersed in water (o/w)

type emulsion.

Watch Video Solution

45. Mention any one application of adsorption.

Watch Video Solution

46. Write steps involved in  mechanism to the conversion of tertiary

butyl bromide into tertiary butyl alcohol and mention its order.

Watch Video Solution

SN1

https://dl.doubtnut.com/l/_o0YrjqrVL0rp
https://dl.doubtnut.com/l/_eAQBoA9eCZVf
https://dl.doubtnut.com/l/_AlWf3PhToUkp
https://dl.doubtnut.com/l/_1vkIhuvkGr4A


47. Aryl halides are less reactive towards nucleophilic substitution

reaction. Give four reasons.

Watch Video Solution

48. Write the mechanism of acid catalysed dehydration of ethanol to

ethene.

Watch Video Solution

49. Explain Reimer-Tiemann reaction.

Watch Video Solution

50. Explain Cannizzaro reaction with an example.

Watch Video Solution

https://dl.doubtnut.com/l/_1vkIhuvkGr4A
https://dl.doubtnut.com/l/_vBTjW7QyGeRt
https://dl.doubtnut.com/l/_UziQ9nCmb3RE
https://dl.doubtnut.com/l/_1HqTDGcRPjag
https://dl.doubtnut.com/l/_FRaKWl7K1M8y


51. Explain Hoffmann bromamide degradation reaction.

Watch Video Solution

52. Name the major product obtained when nitrous aicd is treated with

Methylamine

Watch Video Solution

53. Name the major organic product formed in the following conversion. 

(ii) Benzene diazonium chloride is treated with KI.

Watch Video Solution

54. Write Howorth structure of ''Lactose''.

Watch Video Solution

https://dl.doubtnut.com/l/_XCgZFror9VhG
https://dl.doubtnut.com/l/_9lXdcDHJylFM
https://dl.doubtnut.com/l/_a2LW5XiTXx76
https://dl.doubtnut.com/l/_XM9mFFOXgYn8
https://dl.doubtnut.com/l/_X2Tn6lQFmmlv


55. What are essential amino acids ? Give an example.

Watch Video Solution

56. Name the pentose sugar present in RNA molecule.

Watch Video Solution

57. Name the monomers present in the following polymers. 

Nylon-6

Watch Video Solution

58. Name the monomer present in natural rubber.

Watch Video Solution

https://dl.doubtnut.com/l/_X2Tn6lQFmmlv
https://dl.doubtnut.com/l/_VbVNZlqEhKNI
https://dl.doubtnut.com/l/_xGsMSUGLvmbn
https://dl.doubtnut.com/l/_yWVtMiXCGZRp


59. Name the monomers present in the following polymers. 

Neoprene

Watch Video Solution

60. What are co-polymers? Give example.

Watch Video Solution

61. How does molarity varies with temperature?

Watch Video Solution

62. 10 mL of liquid 'A' is mixed with 10 mL of liquid 'B', the volume of the

resultant solution is 19.9 ml. What type of deviation expected from

Raoult's law ?

Watch Video Solution

https://dl.doubtnut.com/l/_D6379In3AOan
https://dl.doubtnut.com/l/_yIkzwHiy4sod
https://dl.doubtnut.com/l/_kRbxZwldJPko
https://dl.doubtnut.com/l/_l6uwWaore8F3


63. Write the mathematical expression for limiting molar conductivity of

sodium chloride.

Watch Video Solution

64. Define collision frequency.

Watch Video Solution

65. Name the adsorbent used to removal of colouring matter from

solution.

Watch Video Solution

66. Give an example of a metal purified by Mond process.

Watch Video Solution

https://dl.doubtnut.com/l/_l6uwWaore8F3
https://dl.doubtnut.com/l/_2SeyW32VVuhV
https://dl.doubtnut.com/l/_QdBcugTzj2XM
https://dl.doubtnut.com/l/_KZnHo3lgYIjU
https://dl.doubtnut.com/l/_MyePp2kHoHv8


67. Which noble gas is most abundant in atmospheric dry air ?

Watch Video Solution

68. Formaldehyde [HCHO] Undergoes Cannizzaro reaction: Give reason.

Watch Video Solution

69. Deficiency of which vitamin causes the disease scurvy.

Watch Video Solution

70. Give the differences between crystalline and amorphous solids with

respect to shape and melting point.

Watch Video Solution

https://dl.doubtnut.com/l/_MyePp2kHoHv8
https://dl.doubtnut.com/l/_c3fyB9MfHFWB
https://dl.doubtnut.com/l/_BogHkyhhuaQG
https://dl.doubtnut.com/l/_BDWNLRwNedsp
https://dl.doubtnut.com/l/_fyRsT7eGC2tx
https://dl.doubtnut.com/l/_2UgJP9HmshPq


71. Write the cathodic and anodic cell reactions of Hydrogen-Oxygen fuel

cell.

Watch Video Solution

72. What is lanthanoid contraction? Mention the cause for it.

Watch Video Solution

73. How anisole reacts with acetyl chloride  in the presence

of anhydrous ? Write the chemical equation for the reaction.

Watch Video Solution

[CH3COCl]

AlCl3

74. What is the action of ammonia  on benzoic acid? Write

equation.

Watch Video Solution

[NH3]

https://dl.doubtnut.com/l/_2UgJP9HmshPq
https://dl.doubtnut.com/l/_AYRUL8iXXddH
https://dl.doubtnut.com/l/_DGKpN2xqB2Vj
https://dl.doubtnut.com/l/_gsYVkefLkbVu


75. Give an example for non narcotic analgesics.

Watch Video Solution

76. Give an example for: Antiseptics

Watch Video Solution

77. What are anionic detergents? Give an example.

Watch Video Solution

78. During the extraction of aluminium by Hall-Heroult process at which

electrode oxygen gas is liberated.

Watch Video Solution

https://dl.doubtnut.com/l/_b9zqrhnSG7HT
https://dl.doubtnut.com/l/_Dn2fvnrQYGlE
https://dl.doubtnut.com/l/_Co6VmhNlBoqQ
https://dl.doubtnut.com/l/_s8vO2Ozgmnl9


79. During the extraction of aluminium by Hall-Heroult process at which

electrode oxygen gas is liberated.

Watch Video Solution

80. During the extraction of aluminium by Hall-Heroult process at which

electrode oxygen gas is liberated.

Watch Video Solution

81. In the manufactore of ammonia by Haber's process, write the flow

chart and chemical equations with optimum conditions.

Watch Video Solution

82. Mention any two reasons for the anomalous behaviour of oxygen.

Watch Video Solution

https://dl.doubtnut.com/l/_OA6TUlM04riE
https://dl.doubtnut.com/l/_ZnBLSiDP6kM8
https://dl.doubtnut.com/l/_awbUTPgOkgWV
https://dl.doubtnut.com/l/_om7lOaeBh6Zm


83. Write the balanced chemical equation for the action of concentrated

sulphuric acid on copper metal.

Watch Video Solution

84. Complete the following equation:  


Watch Video Solution

2NaOH(cold and dil) + Cl2 →

85. Complete the following equations: 

Watch Video Solution

Cl2 + 3F2

573K
−−→ …….

86. Write the structure of chlorous acid 

Watch Video Solution

[HOCIO]

https://dl.doubtnut.com/l/_om7lOaeBh6Zm
https://dl.doubtnut.com/l/_pifXO0PE5yfy
https://dl.doubtnut.com/l/_IejQflQ4AvaG
https://dl.doubtnut.com/l/_ZHxDuuoEINzz
https://dl.doubtnut.com/l/_O2uqrjqln3Jm


87. Calculate the spin only magnetic moment of 

Watch Video Solution

Fe2 +

88. Which element of 3d series exhibits maximum oxidation state?

Watch Video Solution

89. How is  [Potassium permanganate] is prepared from ?

Write equations.

Watch Video Solution

KMnO4 MnO2

90. Explain the hybridisation, geometry and magnetic property of

.

Watch Video Solution

[Ni(Cl)4]
2 −

https://dl.doubtnut.com/l/_O2uqrjqln3Jm
https://dl.doubtnut.com/l/_gkHaAhiPlWgu
https://dl.doubtnut.com/l/_4kWjr1mLa3uy
https://dl.doubtnut.com/l/_ZiVLM4QQiJA7
https://dl.doubtnut.com/l/_K6Pg9wmwysXK


91. Write the cis and trans isomeric structures of .

Watch Video Solution

[Fe(NH3)2(CN)4]
−

92. What is the co - ordination number of  in ?

Watch Video Solution

Fe [FeCl2(en)2]Cl

93. Calculate packing efficiency in simple cubic unit cell.

Watch Video Solution

94. An element having atomic mass 63.1 g/mol has face centred cubic unit

cell with edge length . Calculate the density of unit cell.

[Given : ].

Watch Video Solution

3.608 × 10− 8cm

NA = 6.022 × 1023  atoms/mol

https://dl.doubtnut.com/l/_LH8iw2s3g7qo
https://dl.doubtnut.com/l/_3nYXALHa7eGc
https://dl.doubtnut.com/l/_zFVGdzfixE5S
https://dl.doubtnut.com/l/_xEESgKPFK42R
https://dl.doubtnut.com/l/_p3XQ1p7T3Hrk


95. 1.0 g of non - electrolyte solute dissolved in 50 g of benzene lowered

the freezing point of benzene by 0.4 K. Find the molar mass of the solute.

[Given : Freezing point depression constant of benzene = 5.12 K. kg mol].

Watch Video Solution

96. How solubility of a gas in liquid varies with (i) Temperature and (ii)

pressure?

Watch Video Solution

97. (a) The electrode potential for the Daniell cell given below is 1.1 V. 

 


Write overall cell reaction and calculate the standard Gibb's energy for

the reaction.  


(b) Mention any two factors which affects the conductivity of electrolytic

solution .

Watch Video Solution

Zn(s)∣∣Z
2 +
n (aq)∣∣∣∣Cu

2 + (aq)∣∣Cu(s)

[F96487c/mol]

https://dl.doubtnut.com/l/_p3XQ1p7T3Hrk
https://dl.doubtnut.com/l/_Oyx5h2Nb6qAV
https://dl.doubtnut.com/l/_ksH6qiyhDy3U


98. Mention any two factors which affects the conductivity of electrolytic

solution.

Watch Video Solution

99. Derive an integrated rate equation for rate constant of a zero order

reaction.

Watch Video Solution

100. Write the Arrhenius equation and mention what each term stands

for.

Watch Video Solution

https://dl.doubtnut.com/l/_ksH6qiyhDy3U
https://dl.doubtnut.com/l/_TNtIHZzzpA8L
https://dl.doubtnut.com/l/_JAcK8ndGpAZ9
https://dl.doubtnut.com/l/_068CGjO9uKch


101. Write 

i) Arrhenius equation. 

ii) The formula to calculate half life. Period of zero order reaction.

Watch Video Solution

102. (a) Give any two differences between lyophilic and lyophobic colloids. 

(b) Write the two steps involved in the mechanism of enzyme catalysed

reaction. 

(c) What is the entropy change  for adsorption ?

Watch Video Solution

(Δs)

103. (a) Give any two differences between lyophilic and lyophobic colloids. 

(b) Write the two steps involved in the mechanism of enzyme catalysed

reaction. 

(c) What is the entropy change  for adsorption ?

Watch Video Solution

(Δs)

https://dl.doubtnut.com/l/_Zf25DHNzCipZ
https://dl.doubtnut.com/l/_C7k5G5820PXo
https://dl.doubtnut.com/l/_vczJYaP73irA


Watch Video Solution

104. (a) Give any two differences between lyophilic and lyophobic colloids.

(b) Write the two steps involved in the mechanism of enzyme catalysed

reaction. 

(c) What is the entropy change  for adsorption ?

Watch Video Solution

(Δs)

105. Write  mechanism of the conversion of methyl chloride to

methyl alcohol.

Watch Video Solution

SN 2

106. Aryl halides are less reactive towards nucleophilic substitution

reaction. Give four reasons.

Watch Video Solution

https://dl.doubtnut.com/l/_vczJYaP73irA
https://dl.doubtnut.com/l/_rIEIR8fh5CrT
https://dl.doubtnut.com/l/_3EGgTOefzKCT
https://dl.doubtnut.com/l/_8zOBdn5nLa12
https://dl.doubtnut.com/l/_G0WVum8Cj8SM


107. What is asymmetric carbon atom.

Watch Video Solution

108. Explain the Kolbe's reaction with equation.

Watch Video Solution

109. Write the mechanism of acid catalysed dehydration of ethanol to

ethene.

Watch Video Solution

110. How benzene is converted into benzaldehyde by Gatterman-Koch

reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_G0WVum8Cj8SM
https://dl.doubtnut.com/l/_EC9uu6isIIaX
https://dl.doubtnut.com/l/_Ql6YnFwDpOhp
https://dl.doubtnut.com/l/_HOGNDZDbNHY7
https://dl.doubtnut.com/l/_4njlgv65DO7b


111. Complete and name the following reaction. 

Watch Video Solution

112. What is the effect of electron withdrawing group on the acidity of

carboxylic acid ?

Watch Video Solution

113. How is methylamine prepared by Hoffmann bromamide degradation

reaction ? Give equation.

Watch Video Solution

https://dl.doubtnut.com/l/_4njlgv65DO7b
https://dl.doubtnut.com/l/_CjJGAm9FgtoN
https://dl.doubtnut.com/l/_BLRZypfSHeS5


114. Write IUPAC name of .

Watch Video Solution

CH3CH2NH2

115. i) Write IUPAC name of . 


ii) Arrange the following amines in the order of their increasing basic

strength in aqueous solution. 

.

Watch Video Solution

CH3CH2NH2

(CH3)3N1, (CH3)2NH1, CH3NH2

116. Complete the following equation. 

Watch Video Solution

C6H5NH2 + NaNO2 + 2HCL
273 − 278K
−−−−−−→

117. Write Haworth structure for maltose.

https://dl.doubtnut.com/l/_Io6sa3LYtb4J
https://dl.doubtnut.com/l/_RDHiOeVnGEEP
https://dl.doubtnut.com/l/_EIR6s1YZBzr7
https://dl.doubtnut.com/l/_WmjkgL0XcQai


Watch Video Solution

118. Give an example for globular proteins.

Watch Video Solution

119. Give an example for 

i) Globular proteins. 

ii) Naturally occurring optically inactive amino acid.

Watch Video Solution

120. Name the nucleic acid which is responsible for genetic information.

Watch Video Solution

121. Explain the preparation of Buna-N with equation.

W h Vid S l i

https://dl.doubtnut.com/l/_WmjkgL0XcQai
https://dl.doubtnut.com/l/_PvSpklM91Gya
https://dl.doubtnut.com/l/_ryD06HXMhZ1x
https://dl.doubtnut.com/l/_QjqBohAA0oDt
https://dl.doubtnut.com/l/_BNzIDSz0wh4e


Watch Video Solution

122. Name the monomer present in the following polymer 

i) Poly vinyl chloride. Ii) Natural rubber.

Watch Video Solution

123. Name the monomer present in the following polymer 

i) Poly vinyl chloride. Ii) Natural rubber.

Watch Video Solution

124. Give an example for biodegradable polymer.

Watch Video Solution

125. What is the value of Van't Hoff's factor (i) for ?

Watch Video Solution

K2SO4

https://dl.doubtnut.com/l/_BNzIDSz0wh4e
https://dl.doubtnut.com/l/_EHWq4sNgMCU1
https://dl.doubtnut.com/l/_LHrOlxkXBv7t
https://dl.doubtnut.com/l/_gJBX8t3c4Eap
https://dl.doubtnut.com/l/_VfKRFmcVB2Oc


Watch Video Solution

126. 10 mL of liquid 'A' is mixed with 10 mL of liquid 'B', the volume of the

resultant solution is 19.9 ml. What type of deviation expected from

Raoult's law ?

Watch Video Solution

127. What is a secondary cell? Write the equation for the cathodic

reaction of lead storage battery ?

Watch Video Solution

128. Identify the order of the reaction from the rate constant

Watch Video Solution

K = 2.3 × 10− 6L  mol − 1s− 1

https://dl.doubtnut.com/l/_VfKRFmcVB2Oc
https://dl.doubtnut.com/l/_v36vTuM2WrzF
https://dl.doubtnut.com/l/_87uRFHFDJ5eh
https://dl.doubtnut.com/l/_Bgud3dDxEluZ


129. Give reason: Zeolites are good shape-selective catalyst.

Watch Video Solution

130. Iron scraps are advisable and advantageous than zinc scraps for

reducing the low grade copper ores. Why?

Watch Video Solution

131. Complete the reaction: 

Watch Video Solution

XeF6 + H2O → ?………… + 2HF

132. Give reason. In case of optically active alkyl halides, SN1 reactions are

accompanied by racemisation

Watch Video Solution

https://dl.doubtnut.com/l/_TIfAFCeynCWn
https://dl.doubtnut.com/l/_Pa54CwwRzijX
https://dl.doubtnut.com/l/_ULAmPYX2uCAh
https://dl.doubtnut.com/l/_Oru0IKHDD5rY
https://dl.doubtnut.com/l/_SVH3OXe2RqKo


133. Identify "A" in the reaction 

Watch Video Solution

134. Give an example for water soluble vitamin.

Watch Video Solution

135. A solution of  is electrolysed between platinum electrodes

using a current of 5 amperes for 20 minutes. What mass of nickel is

deposited at the cathode?[molar mass of Ni ]

Watch Video Solution

Ni(NO3)2

= 58.7gma  mol − 1

https://dl.doubtnut.com/l/_SVH3OXe2RqKo
https://dl.doubtnut.com/l/_AgCOFCH1pr8t
https://dl.doubtnut.com/l/_RyGiVnmJiLu9


136. Mention any two factors which influence the rate of the reaction.

Watch Video Solution

137. Give two reasons the chemistry of actinoids is more complicated than

Lanthnoids.

Watch Video Solution

138. How is phenol prepared from Aniline? Write the equation.

Watch Video Solution

139. Explain cannizzaro's reaction taking benzaldehyde as an example.

Watch Video Solution

https://dl.doubtnut.com/l/_RQFCKbgY1UoN
https://dl.doubtnut.com/l/_fdPhy8u1Q92g
https://dl.doubtnut.com/l/_61DDcHssKFK0
https://dl.doubtnut.com/l/_zwKIRzdxZPTD


140. Give an example for non narcotic analgesics.

Watch Video Solution

141. (a) Give an example for non-narcotic analgesic. 

(b) Why the use of Aspartame is limited to cold foods and soft drinks ?

Watch Video Solution

142. (a) Why detergents with straight chain of hydrocarbons are prefered

over branched chain hydrocarbons? 

(b) Give one example for detergent with straight chain hydrocarbon.

Watch Video Solution

143. (a) Why detergents with straight chain of hydrocarbons are prefered

over branched chain hydrocarbons? 

https://dl.doubtnut.com/l/_gWYZqCwh32ew
https://dl.doubtnut.com/l/_oP3pe0OZm2bH
https://dl.doubtnut.com/l/_7H55Rw5kZ0lg
https://dl.doubtnut.com/l/_eXLnZ0FLEOUP


(b) Give one example for detergent with straight chain hydrocarbon.

Watch Video Solution

144. Write the equations for the reactions involved in the leaching of

alumina from bauxite ore.

Watch Video Solution

145. Mention any two anomalous properties of nitrogen.

Watch Video Solution

146. In the manufacture of sulphuric acid write : 

(i) The equation with condition for oxidation of  to . 


(ii) Formation of Oleum from .

Watch Video Solution

SO2 SO3

SO3

https://dl.doubtnut.com/l/_eXLnZ0FLEOUP
https://dl.doubtnut.com/l/_EW71AKQslU9E
https://dl.doubtnut.com/l/_Bcikjy1yCfpM
https://dl.doubtnut.com/l/_5bLqrlgH6tok
https://dl.doubtnut.com/l/_0ezrBQJZKmGh


147. In the manufacturing of sulphuric acid write 

the formation of Oleum from .

Watch Video Solution

SO3

148. (a) Complete the following reaction : 

(i)  


(ii)  


(b) Write the structure of perchloric acid .

Watch Video Solution

NH3 + 3Cl2 → ?……… + 3HCl

Cl2 + F2

473K
−−→ ?……

(HClO4)

149. Complete the following equations: 

Watch Video Solution

Cl2 + 3F2

573K
−−→ …….

https://dl.doubtnut.com/l/_0ezrBQJZKmGh
https://dl.doubtnut.com/l/_jrORrx9KzTWX
https://dl.doubtnut.com/l/_I0hFOhDnnEve


150. Write the structure of perchloric acid 

Watch Video Solution

(HClO4)

151. Transition elements show catalytic property. Give two reasons.

Watch Video Solution

152. Name one 3d series element that do not show variable oxidation

state.

Watch Video Solution

153. Explain the manufacture of Potassium dichromate from chromite ore.

Watch Video Solution

https://dl.doubtnut.com/l/_PCE1SccNHhll
https://dl.doubtnut.com/l/_SAsip7A7POSx
https://dl.doubtnut.com/l/_RQAmfWhReW7x
https://dl.doubtnut.com/l/_JFNeHATeduGI


154. Using valence bond theory explain geometry, hybridisation and

magnetic property of  (Atomic number of Co = 27).

Watch Video Solution

[CoF6] −
3

155. Write any two postulates of Werner's theory of co-ordination

compounds.

Watch Video Solution

156. Indicate the type of Isomerism in the following set of complex

compounds. 

Watch Video Solution

[Co(NH3)5SCN]Cl2 and [Co(NH3)5NCS]Cl2

157. Calculate packing efficiency in BCC lattice.

https://dl.doubtnut.com/l/_FM2DTRUpaim6
https://dl.doubtnut.com/l/_9OtqW9EKywIz
https://dl.doubtnut.com/l/_RuLYG2975k7C
https://dl.doubtnut.com/l/_Ci4vYJgeqThS


Watch Video Solution

158. Calcium metal crystallises in a face centered cubic lattice with edge

length of 0.556nm. Calculate the density of the metal. [Atomic mass of

calcium 40 g/mol] 

Watch Video Solution

[NA = 6.022 × 1023  atoms/ mol]

159. Vapour pressure of benzene is 200 mm of Hg. When 2 gram of a non-

volatile solute dissolved in 78 gram benzene, benzene has vapour

pressure of 195 mm of Hg. Calculate the molar mass of the solute. [Molar

mass of benzene is 78 g/ ]

Watch Video Solution

mol− 1

160. What are azeotropes? Give an example for binary solutions showing

minimum boiling azeotrope.

https://dl.doubtnut.com/l/_Ci4vYJgeqThS
https://dl.doubtnut.com/l/_42p742iC9eSe
https://dl.doubtnut.com/l/_7jluGVOCC5Mj
https://dl.doubtnut.com/l/_Uxrnoljf0IJq


Watch Video Solution

161. Calculate the e.m.f. of the cell in which the following reaction takes

place. 

Watch Video Solution

Ni ( s ) + 2Ag+
( 0.002M )

→ Ni2 +
( 0.160M )

+ 2Ag ( s ) , Given E ∘
cell

= 1.05V

162. State Kohlrausch law of independent migration of ions.

Watch Video Solution

163. What is limiting molar conductivity?

Watch Video Solution

164. Derive an intergrated rate for the first order reaction.

https://dl.doubtnut.com/l/_Uxrnoljf0IJq
https://dl.doubtnut.com/l/_DSOfNRHTjWJS
https://dl.doubtnut.com/l/_Clmpz7yYnghD
https://dl.doubtnut.com/l/_LBG0gIdaVsUM
https://dl.doubtnut.com/l/_KwrIRWiFdJUv


Watch Video Solution

165. According to collision theory, what are the two factors that lead to

effective collisions

Watch Video Solution

166. What is dialysis ? Explain ?

Watch Video Solution

167. How  and  changes during adsorption ?

Watch Video Solution

ΔH, ΔS ΔG

168. Give an example for heterogeneous catalysis.

Watch Video Solution

https://dl.doubtnut.com/l/_KwrIRWiFdJUv
https://dl.doubtnut.com/l/_ZTXvcOqCS11W
https://dl.doubtnut.com/l/_ThFicpGgXYwa
https://dl.doubtnut.com/l/_wmaBtmRH2aZq
https://dl.doubtnut.com/l/_yLMwdHobXo5w


169. Write steps involved in  mechanism to the conversion of tertiary

butyl bromide into tertiary butyl alcohol and mention its order.

Watch Video Solution

SN1

170. Complete the following reactions: 

Watch Video Solution

CH3 − CH = CH2 + HI →

171. Complete the following reactions: 

https://dl.doubtnut.com/l/_yLMwdHobXo5w
https://dl.doubtnut.com/l/_lzRzTh7BkarU
https://dl.doubtnut.com/l/_DlfszpJZSLO2
https://dl.doubtnut.com/l/_BMAV3rTsoPPk


Watch Video Solution

172. Complete the following reactions: 

Watch Video Solution

CH3CH2Br
AgCN

−−−−−−→
Aq. Ethanol

173. Write the mechanism of acid catalysed dehydration of ethanol to

ethene.

Watch Video Solution

174. How does anisole react with methyl chloride?

Watch Video Solution

https://dl.doubtnut.com/l/_BMAV3rTsoPPk
https://dl.doubtnut.com/l/_SfOSdLM87dmj
https://dl.doubtnut.com/l/_titDJ87TWZLk
https://dl.doubtnut.com/l/_FaLO1Tir7baZ


175. How is benzoyl chloride converted into benzaldehyde. Write the

equation and name the reaction.

Watch Video Solution

176. Write a general equation for the formation of carboxylic acid from

Grignard reagent.

Watch Video Solution

177. Complete the reaction 

Watch Video Solution

https://dl.doubtnut.com/l/_afSMWKQL2RNJ
https://dl.doubtnut.com/l/_xc6vg596gZri
https://dl.doubtnut.com/l/_LSacbX7SAgZO
https://dl.doubtnut.com/l/_gXoe40VcpTTA


178. Mention the IUPAC name of (CH3)2NCH3

Watch Video Solution

179. (a) Mention the I.U.P.A.C. name of . 


(b) How is Aniline prepared from nitrobenzene ? 

(c ) Give the equation for the conversion of aniline to 4-bromo aniline.

Watch Video Solution

(CH3CH2)2 − N − CH3

180. Give the equation for the conversion of aniline to 4-Bromo aniline.

Watch Video Solution

181. Write a chemical reactions to elucidate 

Glucose contains five - OH groups.

Watch Video Solution

https://dl.doubtnut.com/l/_gXoe40VcpTTA
https://dl.doubtnut.com/l/_TxJ0AU2Kx59i
https://dl.doubtnut.com/l/_AOWr6TPF4EVH
https://dl.doubtnut.com/l/_t1p921dgfBCl


182. Write a chemical reactions to elucidate 

Glucose contains six carbon atoms in a straight chain.

Watch Video Solution

183. Explain denaturation of proteins with example.

Watch Video Solution

184. Name the sugar moiety present in DNA.

Watch Video Solution

185. Name the monomers present in the following polymers. 

PVC

Watch Video Solution

https://dl.doubtnut.com/l/_t1p921dgfBCl
https://dl.doubtnut.com/l/_R7xnG8sTgwCU
https://dl.doubtnut.com/l/_GN6zQB9J9eSN
https://dl.doubtnut.com/l/_VEh5iG8MfZJa
https://dl.doubtnut.com/l/_tEuGqUXi6Yul


Example

186. Name the monomers present in the following polymers. 

Neoprene

Watch Video Solution

187. Name the monomers present in the following polymers. 

Nylon-6

Watch Video Solution

1. The experimental value for the molar mass of a non-volatile solute is

twice the theoretical value. What is the Van't Hoff factor for the solute? 

Watch Video Solution

https://dl.doubtnut.com/l/_yegRWja4H1k0
https://dl.doubtnut.com/l/_HgD8adJjnk2F
https://dl.doubtnut.com/l/_T2tnRX7wJdGh


2. Define ppm. 

Watch Video Solution

3. Which of the following has a higher value for molar conductivity under

similar conditions? . 

Watch Video Solution

0.1M KCl or 0.01 M KCI

4. For the reaction , the rate is given by Rate .

By how many times does the rate of reaction increase when

concentrations of A & B are doubled? 

Watch Video Solution

A + B → P = K[A]1[B]2

5. Name the biocatalyst involved in the conversion of glucose into

ethanol and carbon dioxide.

https://dl.doubtnut.com/l/_vdP4KjsdVxXt
https://dl.doubtnut.com/l/_U6idT8JNzq86
https://dl.doubtnut.com/l/_UTA4x4rH1tBq
https://dl.doubtnut.com/l/_C2iG4er5gUXW


Watch Video Solution

6. Write the formula of the volatile compound formed during the

purification of nickel by Mond's process. 

Watch Video Solution

7. What is the geometry of oxide of xenon formed when  is

hydrolysed? 

Watch Video Solution

XeF6

8. Between chlorobenzene and chloroethane, which is more reactive

towards nucleophilic substitution reaction? 

Watch Video Solution

https://dl.doubtnut.com/l/_C2iG4er5gUXW
https://dl.doubtnut.com/l/_FKQcfa6qdP72
https://dl.doubtnut.com/l/_FuojmdXwwqiT
https://dl.doubtnut.com/l/_w5tRjF4iP1P0


9. Pentan-3- one does not undergo iodoform reaction. Give reason. 

Watch Video Solution

10. Name the nitrogenous base present in DNA but not in RNA. 

Watch Video Solution

11. What type of vacancy defect is shown by a crystal of sodium chloride? 

Watch Video Solution

12. Which of the following is an example of a molecular solid? 

Diamond, ZnS, Solid Iodine, gold

Watch Video Solution

https://dl.doubtnut.com/l/_ZZRWFpEnMZvz
https://dl.doubtnut.com/l/_iUOs1SIPaWOf
https://dl.doubtnut.com/l/_L2LNUu4ibFEr
https://dl.doubtnut.com/l/_q6A7a9CrFocb


13. i) According to the equation , how many moles of

copper are deposited when 965C of electricity is passed through a

solution of  ions? 


. 

Watch Video Solution

Cu2 + + 2e− → Cu

Cu2 +

(1F = 96500C)

14. Mention any one application of Kohlrausch law. 

Watch Video Solution

15. Derive the relation between half life and initial concentration of a zero

order reaction, .

Watch Video Solution

R → P

https://dl.doubtnut.com/l/_GU6EZ6jYkjsF
https://dl.doubtnut.com/l/_ij1O4nvqOueC
https://dl.doubtnut.com/l/_qPzs9klK7WsN


16. What is the common oxidation state shown by Lanthanoids? Mention

any one consequence of Lanthanoid contraction. 

Watch Video Solution

17. .

What are X and Y?

Watch Video Solution

C2H5OH + Na  (Metal) → X, X + C2H5Br
Williamson reaction
−−−−−−−−−−−→ Y

18. Explain the Wolff-Kischner reduction of acetone and write the

equation for the same. 

Watch Video Solution

19. Give an example of a narcotic analgesic. 

Watch Video Solution

https://dl.doubtnut.com/l/_mhIdGYHQoIZJ
https://dl.doubtnut.com/l/_FJAjkVn8qFRV
https://dl.doubtnut.com/l/_AOHLzJBGF87Z
https://dl.doubtnut.com/l/_Rr8SL7R9lXeB


20. Based on theraupatic action, to which class of drug does ranitidine

belong to? 

Watch Video Solution

21. What is the role of aspartame in the food industry?

Watch Video Solution

22. What is saponification? 

Watch Video Solution

23. Write the equations for the reactions involved in the leaching of

alumina from bauxite ore.

Watch Video Solution

https://dl.doubtnut.com/l/_Rr8SL7R9lXeB
https://dl.doubtnut.com/l/_UDXuurM79X5g
https://dl.doubtnut.com/l/_rAlqxfQreSiG
https://dl.doubtnut.com/l/_u6nM0vhBl4L1
https://dl.doubtnut.com/l/_NPwtyXAI2pk5


24. In the manufacture of ammonia by Haber's process: 

i) Mention the optimum temperature and optimum pressure employed. 

ii) What is the role played by potassium oxide ? 

Watch Video Solution

(K2O)

25. In the manufacture of ammonia by Haber's process: 

i) Mention the optimum temperature and optimum pressure employed. 

ii) What is the role played by potassium oxide ? 

Watch Video Solution

(K2O)

26. a) Complete the following equations: 

i)  


ii) 

Watch Video Solution

PbS ( s ) + 4O3 ( g ) →

2NaOH + SO2 →

https://dl.doubtnut.com/l/_NPwtyXAI2pk5
https://dl.doubtnut.com/l/_LgJBXiCw6KBB
https://dl.doubtnut.com/l/_WvATHyAsPsm0
https://dl.doubtnut.com/l/_wMZnEtOfRLYc


27. Complete the following equations: 

Watch Video Solution

2NaOH + SO2 →

28. Write the structure of oleum 

Watch Video Solution

(H2S2O7)

29. a) Give reason: 

i) Fluorine exhibits only one oxidation state whereas other halogens

exhibit multiple oxidation states.  

ii) Most of the reactions with fluorine are exothermic.

Watch Video Solution

https://dl.doubtnut.com/l/_AAsoYAe5i6A5
https://dl.doubtnut.com/l/_mCMcRhmXF5VY
https://dl.doubtnut.com/l/_2vxQh7IC6Iie


30. a) Give reason: 

i) Fluorine exhibits only one oxidation state whereas other halogens

exhibit multiple oxidation states.  

ii) Most of the reactions with fluorine are exothermic.

Watch Video Solution

31. b) Write the missing product: 

.

Watch Video Solution

NH3 + 3Cl2(excess) → ? + 3HCl

32. Explain the preparation of potassium permanganate from 

Write the balanced chemical equations for the reactions involved. 

Watch Video Solution

MnO2

https://dl.doubtnut.com/l/_jP9JeW6Oq1aa
https://dl.doubtnut.com/l/_vyuCSMHvcGP1
https://dl.doubtnut.com/l/_54VNjchP0kU0


33. Give reasons: 

i) Generally there is increase in density along 3d series of transition

metals. 

Watch Video Solution

34. Give reasons: 

Third ionisation enthalpy of manganese is unusually high.  

Watch Video Solution

35. Which of the following ions is coloured iņ aqueous solution? 

i)  ii)  iii) 

Watch Video Solution

Sc3 + Co2 + Cu+

https://dl.doubtnut.com/l/_iVHPSztcMEWX
https://dl.doubtnut.com/l/_y56g5Mg3xH5x
https://dl.doubtnut.com/l/_lXfr19v0ajA3


36. Which of the following ions is coloured iņ aqueous solution? 

i)  ii)  iii) 

Watch Video Solution

Sc3 + Co2 + Cu+

37. Which of the following ions is coloured iņ aqueous solution? 

i)  ii)  iii) 

Watch Video Solution

Sc3 + Co2 + Cu+

38. Using valence bond theory account for the geometry and magnetic

nature of  ion. . 

Watch Video Solution

[NiCl4]2 − (Atomic number of Ni = 28)

39. a) In the complex compound represented by , how many

ammonia molecules satisfy the secondary valence of cobalt if one mole of

CoCl3.4NH3

https://dl.doubtnut.com/l/_V20ezXgDJIdN
https://dl.doubtnut.com/l/_LmqwGyIIIUVu
https://dl.doubtnut.com/l/_cu4oI0fegNM1
https://dl.doubtnut.com/l/_LpptFJDYcQFp


the compound upon treatment with excess  produces one mole

of 

Watch Video Solution

AgNO3

AgCl ( s )

40. b) What type of structural, isomerism is exhibited by the complex

? 

Watch Video Solution

Co(NH3)5NO2]
2 +

41. c) Between  and  sets of d-orbitals of a central metal in an

octahedral complex, which set has higher energy?

Watch Video Solution

t2g eg

42. Calculate the packing efficiency in a simple cubic lattice. 

Watch Video Solution

https://dl.doubtnut.com/l/_LpptFJDYcQFp
https://dl.doubtnut.com/l/_y5CYFrP59a93
https://dl.doubtnut.com/l/_DO6OYAEDnPyD
https://dl.doubtnut.com/l/_2h8FvS5IY7vi
https://dl.doubtnut.com/l/_3Fbft2vyq4EF


43. b) An element crystallizes in a foc lattice. The edge length of the unit

cell is 400 pm. Calculate the density of the unit cell.

 


 

Watch Video Solution

(molar mass = 60 g mol − 1)

(Avogadro number = 6.02 × 1023)

44. a) 24 g of a non-volatile, non-electrolyte solute is added to 600 g of

water. The boiling point of the resulting solution is 373.35K. Calculate the

molar mass of the solute

.

Watch Video Solution

(Given boiling point of pure water = 373 K and Kb for water=0.52 K kg mo

45. b) i) A non ideal solution has . What type of deviation

does it show from Raoult's law? 

ii) What is an azeotrope?

ΔHmixing > 0

https://dl.doubtnut.com/l/_3Fbft2vyq4EF
https://dl.doubtnut.com/l/_5Y2uOwgjSIXF
https://dl.doubtnut.com/l/_4tca36kE2U1V


Watch Video Solution

46. b) i) A non ideal solution has . What type of deviation

does it show from Raoult's law? 

ii) What is an azeotrope?

Watch Video Solution

ΔHmixing > 0

47. a) Calculate the e.m.f. of the cell represented below: 

, 

Watch Video Solution

Ni ( s )
∣∣Ni2 +

0.1M
∣∣ ∣ Ag+

0.01M
∣∣Ag ( s )  at 298    Given,  E ∘

cell
= 1.05V

48. What is the composition of the cathode in the lead storage battery? 

Watch Video Solution

https://dl.doubtnut.com/l/_4tca36kE2U1V
https://dl.doubtnut.com/l/_Ouic8FpNgNyf
https://dl.doubtnut.com/l/_eGq3h7A4aVBR
https://dl.doubtnut.com/l/_ZpGTfs1TA79Y


49. Name the product discharged at the anode during the electrolysis of

an aqueous solution of sodium chloride. 

Watch Video Solution

50. Derive an integrated rate equation for the rate constant of a first-

order reaction.

Watch Video Solution

51. b) In the equation, rate , what does the term 

represent? 

Watch Video Solution

= ZAB × e
Ea

R e
Ea

RT

52. What is the effect of a catalyst on  of a reaction? 

Watch Video Solution

ΔG

https://dl.doubtnut.com/l/_AX4T67QUuqjD
https://dl.doubtnut.com/l/_buoh8HY38lVH
https://dl.doubtnut.com/l/_wjMMyf2krTMj
https://dl.doubtnut.com/l/_BBUzv0wbU4o2


53. i) What type of adsorption involves Van der Waals force of attraction? 

ii) Give an example for homogeneous catalysis. 

Watch Video Solution

54. Give an example for homogenous catalysis.

Watch Video Solution

55. What is peptization ? Give an example.

Watch Video Solution

56. i) What is peptization? 

ii) What is the dispersed phase in a gel? 

https://dl.doubtnut.com/l/_BBUzv0wbU4o2
https://dl.doubtnut.com/l/_dxfWfFEZJJJD
https://dl.doubtnut.com/l/_Tr7uafK7uGhu
https://dl.doubtnut.com/l/_hxXHswLy7lpI
https://dl.doubtnut.com/l/_FFe0L0YnKWUR


iii) Which one of the following electrolyte is required in the smallest

quantity to precipitate a negative sol? . 

Watch Video Solution

MgCl2. AICl3, NaCl

57. i) What is peptization? 

ii) What is the dispersed phase in a gel? 

iii) Which one of the following electrolyte is required in the smallest

quantity to precipitate a negative sol? . 

Watch Video Solution

MgCl2. AICl3, NaCl

58. Discuss the mechanism of hydrolysis of tert - butyl bromide.

Watch Video Solution

59. Identify the missing reactant/product in each of the following: 

i)  (where A is the2 −  Bromopentane + alc. KOH → A + KBr

https://dl.doubtnut.com/l/_FFe0L0YnKWUR
https://dl.doubtnut.com/l/_XhEUIAq7ppji
https://dl.doubtnut.com/l/_QbHyJp1UC9WU
https://dl.doubtnut.com/l/_VGDA63zflb7g


major product) 

ii)  

Watch Video Solution

2'B' + 2Na
dry either
−−−−−→ C4H10 + 2NaBr

60. Identify the missing reactant/product in each of the following: 

i)  (where A is the

major product) 

ii)  

Watch Video Solution

2 −  Bromopentane + alc. KOH → A + KBr

2'B' + 2Na
dry either
−−−−−→ C4H10 + 2NaBr

61. Write the equations involved in the preparation of phenol from

cumene.

Watch Video Solution

https://dl.doubtnut.com/l/_VGDA63zflb7g
https://dl.doubtnut.com/l/_6Wno8AEtSgBe
https://dl.doubtnut.com/l/_5bB0AZDXyQOQ


62. i) Give the IUPAC name of the product formed when tertiary butyl

alcohol is passed over copper heated to 573 K. 

ii) Arrange the following in the increasing order of acidity and justify the

same: 

Watch Video Solution

(CH3)3COH, CH3OH, (CH3)2CHOH

63. i) Give the IUPAC name of the product formed when tertiary butyl

alcohol is passed over copper heated to 573 K. 

ii) Arrange the following in the increasing order of acidity and justify the

same: 

Watch Video Solution

(CH3)3COH, CH3OH, (CH3)2CHOH

64. Explain Stephen's reduction with an example. 

Watch Video Solution

https://dl.doubtnut.com/l/_vhxdY3HjGeb5
https://dl.doubtnut.com/l/_3WJL3EDBUxtz
https://dl.doubtnut.com/l/_s87n7sDNAU0u
https://dl.doubtnut.com/l/_SoBIQkmvX24y


65. Complete the following equations: 

i)  


ii)  


iii)  

Watch Video Solution

2HCHO +  conc. KOH →

CH3CHO + NH2OH →

CH3COOH + PCl5 →

66. Complete the following equations: 

Watch Video Solution

CH3CHO + NH2OH →

67. Complete the following equations: 

Watch Video Solution

CH3COOH + PCl5 →

https://dl.doubtnut.com/l/_SoBIQkmvX24y
https://dl.doubtnut.com/l/_qS2Bq9pRbO7b
https://dl.doubtnut.com/l/_0rsuuk6rSHej


68. Explain Hoffmann bromamide degradation reaction and write the

general equation for the reaction involved.

Watch Video Solution

69. i) Give reason: Aniline is a weaker base than ammonia. 

ii) . 

Watch Video Solution

C6H5NH2

NaNO2

−−−−−−→
HCl , 273K

X
Cu2Cl2
−−−→
HCl

Y

70. i) Give reason: Aniline is a weaker base than ammonia. 

ii) . 

Watch Video Solution

C6H5NH2

NaNO2
−−−−−−→
HCl , 273K

X
Cu2Cl2
−−−→
HCl

Y

71. Write the Haworth structure of D - sucrose. Why is a non - reducing

sugar? 

https://dl.doubtnut.com/l/_X9xGuBSyIBca
https://dl.doubtnut.com/l/_QVBnbljO7iE1
https://dl.doubtnut.com/l/_SKAs5fWR513D
https://dl.doubtnut.com/l/_mjBlBNFUn135


Watch Video Solution

72. i) How many peptide bonds are in a hexapeptide? 

ii) Write the general structure of the Zwiter ionic form of an  amino

acid. 

iii) Deficiency of which vitamin cause pernicious anemia?

Watch Video Solution

α −

73. i) How many peptide bonds are in a hexapeptide? 

ii) Write the general structure of the Zwiter ionic form of an  amino

acid. 

iii) Deficiency of which vitamin cause pernicious anemia?

Watch Video Solution

α −

74. i) How many peptide bonds are in a hexapeptide? 

ii) Write the general structure of the Zwiter ionic form of an  aminoα −

https://dl.doubtnut.com/l/_mjBlBNFUn135
https://dl.doubtnut.com/l/_iyZng0RdcR69
https://dl.doubtnut.com/l/_1zID612o3yUa
https://dl.doubtnut.com/l/_dCnSRmcIOuxw


acid. 

iii) Deficiency of which vitamin cause pernicious anemia?

Watch Video Solution

75. i) Name the polymer whose partial structure is represented by 

ii) What are the monomers of Nylon 6, 6 ? 

Watch Video Solution

76. i) Name the catalyst used in the manufacture of high density

polythene. 

ii) What is the configuration at the carbon - carbon double bonds in

natural rubber ? 

Watch Video Solution

https://dl.doubtnut.com/l/_dCnSRmcIOuxw
https://dl.doubtnut.com/l/_g385YXiLx1TX
https://dl.doubtnut.com/l/_CNkfnkTsT4nj


77. i) Name the catalyst used in the manufacture of high density

polythene. 

ii) What is the configuration at the carbon - carbon double bonds in

natural rubber ? 

Watch Video Solution

https://dl.doubtnut.com/l/_s2xnCnOvzPcs

